

1-1-2022

Ricci-Yamabe solitons and 3-dimensional Riemannian manifolds

UDAY CHAND DE

ARPAN SARDAR

KRISHNENDU DE

Follow this and additional works at: <https://journals.tubitak.gov.tr/math>



Part of the [Mathematics Commons](#)

Recommended Citation

DE, UDAY CHAND; SARDAR, ARPAN; and DE, KRISHNENDU (2022) "Ricci-Yamabe solitons and 3-dimensional Riemannian manifolds," *Turkish Journal of Mathematics*: Vol. 46: No. 3, Article 28.
<https://doi.org/10.55730/1300-0098.3143>

Available at: <https://journals.tubitak.gov.tr/math/vol46/iss3/28>

This Article is brought to you for free and open access by TÜBİTAK Academic Journals. It has been accepted for inclusion in Turkish Journal of Mathematics by an authorized editor of TÜBİTAK Academic Journals. For more information, please contact academic.publications@tubitak.gov.tr.

Ricci-Yamabe solitons and 3-dimensional Riemannian manifolds

Uday Chand DE¹, Arpan SARDAR², Krishnendu DE^{3,*}

¹Department of Pure Mathematics, University of Calcutta, Kolkata, West Bengal, India

²Department of Mathematics, University of Kalyani, Kalyani, West Bengal, India.

³Department of Mathematics, Kabi Sukanta Mahavidyalaya, The University of Burdwan, Bhadreswar, P.O.-Angus, Hooghly, West Bengal, India

Received: 07.11.2021

Accepted/Published Online: 23.02.2022

Final Version: 11.03.2022

Abstract: In this paper, we classify 3-dimensional Riemannian manifolds endowed with a special type of vector field if the Riemannian metrics are Ricci-Yamabe solitons and gradient Ricci-Yamabe solitons, respectively. Finally, we construct an example to illustrate our result.

Key words: Ricci-Yamabe soliton, gradient Ricci-Yamabe soliton, 3-dimensional Riemannian manifolds

1. Introduction

In the last twenty years, the hypothesis of geometric flows are the most fascinating mathematical tools to describe the geometric structures in Riemannian geometry. A specific section of solutions on which the metric evolves by diffeomorphisms has a significant impact in the investigation of singularities of the flows as they show up as possible singularity models. They are frequently called soliton solutions.

Yamabe flow was presented by Hamilton [8], simultaneously with Ricci flow. The Ricci soliton and Yamabe soliton are special solutions of the Ricci flow and Yamabe flow, respectively. The Ricci soliton and the Yamabe soliton are equivalent for dimension $m = 2$. Although, in dimension $m > 2$, they are not identical.

In the course of recent years, the theoretical concept of geometric flows, for example, Ricci flow and Yamabe flow have been the focal point of fascination of numerous geometers. As of late, in 2019, Guler and Crasmareanu [7] presented the investigation of another geometric flow under the name Ricci-Yamabe map. This map is nothing but a scalar combination of Ricci and Yamabe flow. This is additionally named (α, β) type Ricci-Yamabe flow. This type of flow is an advancement for the metrics on N , the Riemannian manifold defined by [7]

$$\frac{\partial}{\partial t}g(t) = \beta r(t)g(t) - 2\alpha\mathcal{S}(t), \quad g_0 = g(0), \quad (1.1)$$

where \mathcal{S} is the Ricci tensor, r denotes the scalar curvature, and $\lambda, \alpha, \beta \in \mathbb{R}$.

One can think Ricci-Yamabe flow as Riemannian or singular Riemannian or semi-Riemannian flow because of the signs of α and β , the involved scalars. This sort of different choices can be valuable in some mathematical or physical models such as relativistic theories. Therefore, normally Ricci-Yamabe soliton arises as the constraint of the soliton of Ricci-Yamabe flow. Another strong inspiration that started the investigation of Ricci-Yamabe

*Correspondence: krishnendu.de@outlook.in

2010 AMS Mathematics Subject Classification: 53C15, 53C25.

solitons is that, in spite of the fact that Ricci solitons and Yamabe solitons are identical in dimensional 2, in higher dimension they are basically different.

A Ricci-Yamabe soliton on (N, g) is a data $(g, X, \lambda, \alpha, \beta)$ fulfilling

$$\mathcal{L}_X g = -2\alpha\mathcal{S} - (2\lambda - \beta r)g, \quad (1.2)$$

where \mathcal{L} being the Lie-derivative, \mathcal{S} indicates the Ricci tensor, r denotes the scalar curvature and $\lambda, \alpha, \beta \in \mathbb{R}$.

If f is a smooth function and X is the gradient of f on N , then the foregoing notion is named gradient Ricci-Yamabe soliton and the equation (1.2) transforms to

$$\nabla^2 f = -\alpha\mathcal{S} - (\lambda - \frac{1}{2}\beta r)g, \quad (1.3)$$

where the Hessian of f is denoted by $\nabla^2 f$.

The Ricci-Yamabe soliton (or gradient Ricci-Yamabe soliton) is said to be expanding for $\lambda > 0$, steady for $\lambda = 0$ and shrinking when $\lambda < 0$. If λ, β and α are smooth functions on N , then a Ricci-Yamabe soliton (or gradient Ricci-Yamabe soliton) is called an almost Ricci-Yamabe soliton (or gradient Ricci-Yamabe soliton). If $\beta = 0, \alpha = 1$, then Ricci-Yamabe soliton (or gradient Ricci-Yamabe soliton) turns into Ricci soliton (or gradient Ricci soliton) [8]. Similarly, it turns into Yamabe soliton (or gradient Yamabe soliton) [9] if $\beta = 1, \alpha = 0$. Also, if $\beta = -1, \alpha = 1$, it reduces to an Einstein soliton (or gradient Einstein soliton) [3].

The Ricci-Yamabe soliton (or gradient Ricci-Yamabe soliton) is said to be proper if $\alpha \neq 0, 1$.

Ricci solitons and Yamabe solitons have been investigated by several authors. A few of them are ([1, 2, 15–18]) and ([4–6, 13, 19, 20]) respectively.

We present the paper as follows:

At first, in Section 2, we provide the basic results of N^3 , a 3-dimensional Riemannian manifold. Then in Section 3, we consider Ricci-Yamabe solitons on N^3 . In Section 4, we investigate gradient Ricci-Yamabe solitons on N^3 . Finally, we construct an example to illustrate our result.

2. Preliminaries

Let (N^m, g) be a Riemannian manifold of dimension m . \mathcal{R} , the Riemannian curvature tensor of (N^3, g) is written by

$$\begin{aligned} \mathcal{R}(P, Q)G &= g(Q, G)Q P - g(P, G)Q Q + \mathcal{S}(Q, G)P - \mathcal{S}(P, G)Q \\ &\quad - \frac{r}{2}\{g(Q, G)P - g(P, G)Q\} \end{aligned} \quad (2.1)$$

for any $P, Q, G \in \chi(N)$ and \mathcal{Q} indicates the Ricci operator defined by $\mathcal{S}(P, Q) = g(\mathcal{Q}P, Q)$. Many authors have investigated (N^3, g) with various structures such as contact structure and complex structure in ([10, 11]) and others.

It may be mentioned that every compact, orientable N^3 has a contact structure [14], that is, there exists a global one-form B such that $B \wedge dB \neq 0$ everywhere.

Throughout the paper, we assume that the 3-dimensional Riemannian manifold N^3 admits a unit vector field ζ such that

$$\nabla_P \zeta = B(P)\zeta - P, \quad (2.2)$$

where the 1-form B is associated with the vector field ζ such that $g(P, \zeta) = B(P)$.

Equation (2.2) implies

$$\mathcal{R}(P, Q)\zeta = B(P)Q - B(Q)P, \tag{2.3}$$

$$\mathcal{R}(\zeta, P)Q = B(Q)P - g(P, Q)\zeta, \tag{2.4}$$

$$(\nabla_P B)Q = B(P)B(Q) - g(P, Q), \tag{2.5}$$

$$S(P, \zeta) = -2B(P). \tag{2.6}$$

Lemma 2.1 *In N^3 with a special type of vector field, we have*

$$QP = \left(\frac{r}{2} + 1\right)P - \left(\frac{r}{2} + 3\right)B(P)\zeta, \tag{2.7}$$

which implies

$$S(P, Q) = \left(\frac{r}{2} + 1\right)g(P, Q) - \left(\frac{r}{2} + 3\right)B(P)B(Q). \tag{2.8}$$

Lemma 2.2 *In N^3 , we have*

$$\zeta r = 2(r + 6). \tag{2.9}$$

Proof. Equation (2.7) implies

$$\begin{aligned} (\nabla_Q Q)P &= \frac{1}{2}(Qr)P - \frac{1}{2}(Qr)B(P)\zeta \\ &\quad - \left(\frac{r}{2} + 3\right)[2B(P)B(Q)\zeta - g(P, Q)\zeta - \eta(P)Q]. \end{aligned} \tag{2.10}$$

Contracting Q from the above equation, we get

$$(\zeta r)B(P) = 2(r + 6)B(P), \tag{2.11}$$

which implies equation (2.9) and hence completes the proof.

3. Ricci-Yamabe solitons

Let N^3 obey Ricci-Yamabe solitons. Then equation (1.2) yields

$$(\mathcal{L}_X g)(P, Q) = -2\alpha S(P, Q) + (\beta r - 2\lambda)g(P, Q). \tag{3.1}$$

Taking covariant derivative of (3.1), we obtain

$$(\nabla_G \mathcal{L}_X g)(P, Q) = -2\alpha(\nabla_G S)(P, Q) + \beta(Gr)g(P, Q). \tag{3.2}$$

From equation (2.8), we get

$$\begin{aligned}
 (\nabla_G \mathcal{S})(P, Q) &= \frac{Gr}{2}[g(P, Q) - B(P)B(Q)] \\
 &+ (\frac{r}{2} + 3)[g(P, G)B(Q) + g(Q, G)B(P) - 2B(P)B(Q)B(G)].
 \end{aligned}
 \tag{3.3}$$

Using (3.3) in (3.2) gives

$$\begin{aligned}
 (\nabla_G \mathcal{L}_X g)(P, Q) &= (\beta - \alpha)(Gr)g(P, Q) + \alpha(Gr)B(P)B(Q) \\
 &- \alpha(r + 6)[g(P, G)B(Q) + g(Q, G)B(P) \\
 &- 2B(P)B(Q)B(G)].
 \end{aligned}
 \tag{3.4}$$

Following Yano [21], the following relation holds:

$$\begin{aligned}
 (\mathcal{L}_X \nabla_P g - \mathcal{L}_P \nabla_X g - \nabla_{[X, P]}g)(Q, G) &= -g((\mathcal{L}_X \nabla)(P, Q), G) \\
 &- g((\mathcal{L}_X \nabla)(P, G), Q),
 \end{aligned}
 \tag{3.5}$$

which implies

$$(\nabla_P \mathcal{L}_X g)(Q, G) = g((\mathcal{L}_X \nabla)(P, Q), G) + g((\mathcal{L}_X \nabla)(P, G), Q).
 \tag{3.6}$$

Since $\mathcal{L}_X \nabla$ is a (1,2) type symmetric tensor, that is, $(\mathcal{L}_X \nabla)(P, Q) = (\mathcal{L}_X \nabla)(Q, P)$, then (3.6) infers

$$\begin{aligned}
 g((\mathcal{L}_X \nabla)(P, Q), G) &= \frac{1}{2}(\nabla_P \mathcal{L}_X g)(Q, G) + \frac{1}{2}(\nabla_Q \mathcal{L}_X g)(P, G) \\
 &- \frac{1}{2}(\nabla_G \mathcal{L}_X g)(P, Q).
 \end{aligned}
 \tag{3.7}$$

Using (3.4) in (3.7) entails that

$$\begin{aligned}
 2g((\mathcal{L}_X \nabla)(P, Q), G) &= (\beta - \alpha)[(Pr)g(Q, G) + (Qr)g(P, G) - (Gr)g(P, Q)] \\
 &+ \alpha[(Pr)\eta(Q)\eta(G) + (Qr)\eta(P)\eta(G) - (Gr)\eta(P)\eta(Q)] \\
 &- 2\alpha(r + 6)[g(P, Q)\eta(G) - \eta(P)\eta(Q)\eta(G)].
 \end{aligned}
 \tag{3.8}$$

Removing G from the above equation, we acquire

$$\begin{aligned}
 2(\mathcal{L}_X \nabla)(P, Q) &= (\beta - \alpha)[(Pr)Q + (Qr)P - g(P, Q)Dr] \\
 &+ \alpha[(Pr)\eta(Q)\zeta + (Qr)\eta(P)\zeta - \eta(P)\eta(Q)Dr] \\
 &- 2\alpha(r + 6)[g(P, Q)\zeta - \eta(P)\eta(Q)\zeta].
 \end{aligned}
 \tag{3.9}$$

Putting $Q = \zeta$ in the foregoing equation gives

$$\begin{aligned}
 (\mathcal{L}_X \nabla)(P, \zeta) &= \frac{\beta}{2}(Pr)\zeta - \frac{\beta}{2}B(P)Dr \\
 &+ (r + 6)[(\beta - \alpha)P + \alpha B(P)\zeta].
 \end{aligned}
 \tag{3.10}$$

If we take $r = \text{constant}$, then (2.9) implies $r = -6$.

Hence equation (3.10) implies

$$(\mathcal{L}_X \nabla)(P, \zeta) = 0, \tag{3.11}$$

which implies

$$(\nabla_Q \mathcal{L}_X \nabla)(P, \zeta) = 0. \tag{3.12}$$

Again, we know that

$$(\mathcal{L}_X \mathcal{R})(P, Q)G = (\nabla_P \mathcal{L}_X \nabla)(Q, G) - (\nabla_Q \mathcal{L}_X \nabla)(P, G). \tag{3.13}$$

Substituting G by ζ in (3.13) entails that

$$(\mathcal{L}_X \mathcal{R})(P, Q)\zeta = (\nabla_P \mathcal{L}_X \nabla)(Q, \zeta) - (\nabla_Q \mathcal{L}_X \nabla)(P, \zeta). \tag{3.14}$$

Using (3.12) in (3.14), we infer

$$(\mathcal{L}_X \mathcal{R})(P, Q)\zeta = 0. \tag{3.15}$$

Putting $Q = \zeta$ in (3.15), we get

$$(\mathcal{L}_X \mathcal{R})(P, \zeta)\zeta = 0. \tag{3.16}$$

From (2.3) and (2.4), we have

$$\mathcal{R}(P, \zeta)Q = g(P, Q)\zeta - B(Q)P \tag{3.17}$$

and

$$\mathcal{R}(P, \zeta)\zeta = B(P)\zeta - P. \tag{3.18}$$

In view of (2.3), (3.17), and (3.18), we get

$$(\mathcal{L}_X \mathcal{R})(P, \zeta)\zeta = ((\mathcal{L}_X B)P)\zeta - g(P, \mathcal{L}_X \zeta)\zeta. \tag{3.19}$$

Putting $Q = \zeta$ in (3.1), we acquire

$$(\mathcal{L}_X g)(P, \zeta) = (4\alpha - 6\beta - 2\lambda)B(P), \tag{3.20}$$

which implies

$$(\mathcal{L}_X B)P - g(P, \mathcal{L}_X \zeta) = (4\alpha - 6\beta - 2\lambda)B(P). \tag{3.21}$$

Using (3.21) in (3.19), we infer

$$(\mathcal{L}_X \mathcal{R})(P, \zeta)\zeta = (4\alpha - 6\beta - 2\lambda)B(P)\zeta. \tag{3.22}$$

In view of (3.16) and (3.22), we obtain

$$(4\alpha - 6\beta - 2\lambda)B(P)\zeta = 0, \tag{3.23}$$

which implies

$$\lambda = 2\alpha - 3\beta. \tag{3.24}$$

Hence we have:

Theorem 3.1 *If the metric of N^3 endowed with a special type of vector field is Ricci-Yamabe solitons, then the constants α, β, λ are related by the equation*

$$\lambda = 2\alpha - 3\beta,$$

provided the scalar curvature is constant.

If we take $\alpha = 1$ and $\beta = 0$, then from (3.24), we get

$$\lambda = 2.$$

Hence we have:

Corollary 3.2 *If the metric of N^3 of constant scalar curvature equipped with a special type of vector field admits a Ricci soliton, then the soliton is expanding.*

In particular, for $\alpha = 0$ and $\beta = 1$ equations (3.24) implies

$$\lambda = -3.$$

Hence we have:

Corollary 3.3 *If the metric of N^3 of constant scalar curvature endowed with a special type of vector field admits a Yamabe soliton, then the soliton is shrinking.*

Again, if we take $\alpha = 1$ and $\beta = -1$, then from (3.24), we acquire

$$\lambda = 5.$$

Hence we have:

Corollary 3.4 *If the metric of N^3 of constant scalar curvature equipped with a special type of vector field admits an Einstein soliton, then the soliton is expanding.*

Let X be pointwise collinear with ζ , that is, $X = b\zeta$, where b is a smooth function. Then (1.2) implies

$$(\mathcal{L}_{b\zeta}g)(P, Q) = -2\alpha\mathcal{S}(P, Q) - (2\lambda - \beta r)g(P, Q). \tag{3.25}$$

Now,

$$\begin{aligned} (\mathcal{L}_{b\zeta}g)(P, Q) &= (Pb)B(Q) + (Qb)B(P) \\ &\quad + b[g(\nabla_P\zeta, Q) + g(P, \nabla_Q\zeta)], \end{aligned} \tag{3.26}$$

which implies

$$\begin{aligned} (\mathcal{L}_{b\zeta}g)(P, Q) &= (Pb)B(Q) + (Qb)B(P) \\ &\quad - 2b[g(P, Q) - B(P)B(Q)]. \end{aligned} \tag{3.27}$$

Using (3.27) in (3.25) entails that

$$\begin{aligned} & (Pb)B(Q) + (Qb)B(P) - 2b[g(P, Q) - B(P)B(Q)] \\ & = -2\alpha\mathcal{S}(P, Q) - (2\lambda - \beta r)g(P, Q). \end{aligned} \tag{3.28}$$

Setting $Q = \zeta$ in (3.28), we infer

$$(Pb) + (\zeta b)B(P) = 2(2\alpha - \lambda + \frac{\beta}{2}r)B(P). \tag{3.29}$$

Putting $P = \zeta$ in the foregoing equation gives

$$\zeta b = (2\alpha - \lambda + \frac{\beta}{2}r). \tag{3.30}$$

In view of (3.29) and (3.30), we get

$$Pb = (2\alpha - \lambda + \frac{\beta}{2}r)B(P). \tag{3.31}$$

If we take $2\alpha - \lambda + \frac{\beta}{2}r = 0$, then (3.31) implies

$$Pb = 0, \tag{3.32}$$

which implies b is constant. Hence we have:

Theorem 3.5 *If the metric of N^3 equipped with a special type of vector field is Ricci-Yamabe solitons and the potential vector field X is pointwise collinear with the vector field ζ , then X is a constant multiple of ζ , provided $2\alpha - \lambda + \frac{\beta}{2}r = 0$.*

4. Gradient Ricci-Yamabe solitons

Let N^3 admit a gradient Ricci-Yamabe soliton. Then (1.3) implies

$$\nabla_P Df = -\alpha QP - (\lambda - \frac{\beta}{2}r)P. \tag{4.1}$$

Taking covariant derivative of (4.1), we obtain

$$\nabla_Q \nabla_P Df = -\alpha \nabla_Q QP - (\lambda - \frac{\beta}{2}r) \nabla_Q P + \frac{\beta}{2} (Qr)P. \tag{4.2}$$

Equation (4.2) gives

$$\nabla_P \nabla_Q Df = -\alpha \nabla_P QQ - (\lambda - \frac{\beta}{2}r) \nabla_P Q + \frac{\beta}{2} (Pr)Q. \tag{4.3}$$

From equation (4.1), we get

$$\nabla_{[P,Q]} Df = -\alpha Q(\nabla_P Q - \nabla_Q P) - (\lambda - \frac{\beta}{2}r)(\nabla_P Q - \nabla_Q P). \tag{4.4}$$

In view of (4.2)–(4.4), we infer

$$\mathcal{R}(P, Q)Df = -\alpha[(\nabla_P Q)Q - (\nabla_Q Q)P] + \frac{\beta}{2}[(Pr)Q - (Qr)P]. \tag{4.5}$$

Using (2.10) in the above equation gives

$$\begin{aligned} \mathcal{R}(P, Q)Df &= \frac{(\beta - \alpha)}{2}[(Pr)Q - (Qr)P] \\ &+ \frac{\alpha}{2}[(Pr)B(Q)\zeta - (Qr)B(P)\zeta] \\ &+ \alpha\left(\frac{r}{2} + 3\right)[B(P)Q - B(Q)P]. \end{aligned} \tag{4.6}$$

Contracting (4.6) yields

$$\mathcal{S}(Q, Df) = \left(\frac{\alpha}{2} - \beta\right)Qr. \tag{4.7}$$

Replacing P by Df in (2.8), we obtain

$$\mathcal{S}(Q, Df) = \left(\frac{r}{2} + 1\right)Qf - \left(\frac{r}{2} + 3\right)(\zeta f)B(Q). \tag{4.8}$$

Above two equations implies

$$\begin{aligned} \left(\frac{\alpha}{2} - \beta\right)Qr &= \left(\frac{r}{2} + 1\right)Qf \\ &- \left(\frac{r}{2} + 3\right)(\zeta f)B(Q). \end{aligned} \tag{4.9}$$

Putting $Q = \zeta$ in (4.9) and using (2.9) gives

$$\zeta f = \frac{(2\beta - \alpha)(r + 6)}{2}. \tag{4.10}$$

Taking inner product of (4.6) with ζ , we get

$$B(Q)Pf - B(P)Qf = \frac{\beta}{2}[(Pr)B(Q) - (Qr)B(P)]. \tag{4.11}$$

Putting $P = \zeta$ in (4.11) and using (2.9) and (4.10) entails that

$$Qf = \frac{\beta}{2}(Qr) - \frac{\alpha}{2}(r + 6)B(Q). \tag{4.12}$$

If we take $r = \text{constant}$, then from (2.9), we get $r = -6$. Hence (4.12) implies

$$Qf = 0,$$

which implies f is constant. Therefore, the soliton is trivial. Hence, the manifold is an Einstein manifold. Being 3-dimensional, the manifold becomes a space of constant curvature.

Hence, we have:

Theorem 4.1 *If the metric of N^3 of constant scalar curvature endowed with a special type of vector field is gradient Ricci-Yamabe soliton, then the soliton is trivial and N^3 is a space of constant curvature.*

5. Example

We consider $N^3 = \{(x, y, z) \in \mathbb{R}\}$, the 3-dimensional manifold, where $(x, y, z) \in \mathbb{R}^3$. Let v_1, v_2, v_3 be three vector fields in \mathbb{R}^3 which satisfies

$$v_1 = e^z \frac{\partial}{\partial x} + e^z \frac{\partial}{\partial y}, \quad v_2 = e^z \frac{\partial}{\partial x} - e^z \frac{\partial}{\partial y}, \quad v_3 = \frac{\partial}{\partial z},$$

which implies

$$[v_1, v_2] = 0, \quad [v_1, v_3] = -v_1, \quad [v_2, v_3] = -v_2.$$

Let g indicate the Riemannian metric defined by

$$g(v_1, v_1) = g(v_2, v_2) = g(v_3, v_3) = 1 \quad \text{and} \quad g(v_1, v_2) = g(v_1, v_3) = g(v_2, v_3) = 0.$$

Let B be the 1-form defined by $B(Z) = g(Z, v_3)$, for any $Z \in \chi(N)$.

Now from Koszul's formula, Levi-Civita connection ∇ is given by

$$\nabla_{v_1} v_1 = v_3, \quad \nabla_{v_1} v_2 = 0, \quad \nabla_{v_1} v_3 = -v_1,$$

$$\nabla_{v_2} v_1 = 0, \quad \nabla_{v_2} v_2 = v_3, \quad \nabla_{v_2} v_3 = -v_2,$$

$$\nabla_{v_3} v_1 = 0, \quad \nabla_{v_3} v_2 = 0, \quad \nabla_{v_3} v_3 = 0.$$

Hence, the manifold is a Riemannian manifold with a special type of vector field v_3 . The components of the curvature tensor and Ricci tensor are

$$\mathcal{R}(v_1, v_2)v_1 = v_2, \quad \mathcal{R}(v_1, v_2)v_2 = -v_1, \quad \mathcal{R}(v_1, v_2)v_3 = 0,$$

$$\mathcal{R}(v_1, v_3)v_1 = v_3, \quad \mathcal{R}(v_1, v_3)v_2 = 0, \quad \mathcal{R}(v_1, v_3)v_3 = -v_1,$$

$$\mathcal{R}(v_2, v_3)v_1 = 0, \quad \mathcal{R}(v_2, v_3)v_2 = v_3, \quad \mathcal{R}(v_2, v_3)v_3 = -v_2$$

and

$$\mathcal{S}(v_1, v_1) = -2, \quad \mathcal{S}(v_2, v_2) = -2, \quad \mathcal{S}(v_3, v_3) = -2.$$

From the above equations, we obtain $r = -6$. Suppose that there exists a function f on N such that

$$\nabla_Z Df = -\alpha QZ - \left(\lambda - \frac{\beta}{2}r\right)Z. \tag{5.1}$$

Since $Df = (v_1 f)v_1 + (v_2 f)v_2 + (v_3 f)v_3$, we get

$$\nabla_{v_1} Df = (v_1(v_1 f) - v_3 f)v_1 + (v_1(v_2 f))v_2 + (v_1(v_3 f) + v_1 f)v_3,$$

$$\nabla_{v_2} Df = (v_2(v_1 f))v_1 + (v_2(v_2 f) - v_3 f)v_2 + (v_2(v_3 f) + v_2 f)v_3,$$

$$\nabla_{v_3} Df = (v_3(v_1 f))v_1 + (v_3(v_2 f))v_2 + (v_3(v_3 f))v_3.$$

Thus, f satisfies the following equations

$$v_1(v_1 f) - v_3 f = 2\alpha - 3\beta - \lambda,$$

$$v_2(v_2 f) - v_3 f = 2\alpha - 3\beta - \lambda,$$

$$v_3(v_3 f) = 2\alpha - 3\beta - \lambda,$$

$$v_1(v_2 f) = 0,$$

$$v_2(v_1 f) = 0,$$

$$v_2(v_3 f) + v_2 f = 0,$$

which are equivalent to

$$e^{2z} \frac{\partial^2 f}{\partial x^2} + 2e^{2z} \frac{\partial^2 f}{\partial x \partial y} + e^{2z} \frac{\partial^2 f}{\partial y^2} - \frac{\partial f}{\partial z} = 2\alpha - 3\beta - \lambda,$$

$$e^{2z} \frac{\partial^2 f}{\partial x^2} - 2e^{2z} \frac{\partial^2 f}{\partial x \partial y} + e^{2z} \frac{\partial^2 f}{\partial y^2} - \frac{\partial f}{\partial z} = 2\alpha - 3\beta - \lambda,$$

$$\frac{\partial^2 f}{\partial z^2} = 2\alpha - 3\beta - \lambda,$$

$$\frac{\partial^2 f}{\partial x^2} - \frac{\partial^2 f}{\partial y^2} = 0$$

$$\frac{\partial^2 f}{\partial x \partial z} - \frac{\partial^2 f}{\partial y \partial z} + \frac{\partial f}{\partial x} - \frac{\partial f}{\partial y} = 0.$$

The above equations imply f is constant for $\lambda = 2\alpha - 3\beta$. Hence, equation (4.1) is satisfied. Thus g is a gradient Ricci-Yamabe soliton with the soliton vector field $X = Df$, where $f = \text{constant}$ and $\lambda = 2\alpha - 3\beta$. Thus, Theorem 4.1 is verified.

6. Acknowledgments

We would like to thank the referees and the editor for reviewing the paper carefully and their valuable comments to improve the quality of the paper. Arpan Sardar is financially supported by UGC, Ref. ID. 4603/(CSIR-UGCNETJUNE2019).

References

- [1] Blaga AM, Baishya KK, Sarkar N. Ricci solitons in a generalized weakly (Ricci) symmetric D-homothetically deformed Kenmotsu manifold. *Annales Universitatis Paedagogicae Cracoviensis*, 2019; 18: 123-136.
- [2] Blaga AM, Latcu DR. Remarks on Riemann and Ricci solitons in (α, β) -contact metric manifolds. arXiv: 2009.02506[math.DG].
- [3] Catino G, Mazzieri L. Gradient Einstein solitons. *Nonlinear Analysis*, 2016; 132: 66-94.
- [4] Chen BY, Deshmukh S. A note on Yamabe solitons. *Balkan Journal of Geometry and Application* 2018; 23: 37-43.
- [5] Chen BY, Deshmukh S. Yamabe and Quasi-Yamabe Solitons on Euclidean Submanifolds. *Mediterranean Journal of Mathematics*, 2018; 15: 1-9.
- [6] De K, De, UC. Almost quasi-Yamabe solitons and gradient almost quasi-Yamabe solitons in paracontact geometry. *Quaestiones Mathematicae*, 2021; 44: 1429-1440.
- [7] Guler S, Crasmareanu M. Ricci-Yamabe maps for Riemannian flow and their volume variation and volume entropy. *Turkish Journal of Mathematics*, 2019; 43: 2631-2641.
- [8] Hamilton, RS. The Ricci flow on surfaces. *Mathematics and general relativity*, 1998; 71: 237-262.
- [9] Hamilton RS. Lectures on geometric flows. 1989 (unpublished).
- [10] Karatsobanis JN, Xenos PJ. On the new class of contact metric 3-manifolds. *Journao of Geometry*, 2004; 80: 136-153.
- [11] Koufogiorgos T. On a class of contact Riemannian 3-manifolds. *Results in Mathematics*, 1995; 27: 51-62.
- [12] Mofarreh F, De UC. A note on gradient solitons in three-dimensional Riemannian manifolds. *International Electronic Journal of Geometry*, 2021; 14: 85-90.
- [13] Suh YJ, De UC. Yamabe solitons and gradient Yamabe solitons on three dimensional $N(k)$ -contact manifolds. *International Journal of Geometric Methods in Modern Physics*, 2020; 17.
- [14] Thurston WP, Winkelnkemper HE. On the existence of contact forms. *Proceedings of the American Mathematical Society*, 1975; 52: 345-347.
- [15] Naik DM, Venkatesha V, Kumara HA. Ricci solitons and certain related metrics on almost co-Kaehler manifolds. *Jornal of Mathematical Physics Analysis and Geometry*, 2020; 16: 402-417.
- [16] Wang Y. Contact 3-manifolds and *-Ricci soliton, *Kodai Mathematical Journal* 43 (2020), 256–267.
- [17] Wang Y. Ricci solitons on almost co-kahler manifolds. *Canadian Mathematical Bulletin* 2019; 62: 912-922.
- [18] Wang Y. Ricci solitons on 3-dimensional cosymplectic manifolds. *Mathematica Slovaca*, 2017; 67: 979-984.
- [19] Wang Y. Almost Kenmotsu $(k, \mu)'$ -manifolds with Yamabe solitons. *Revista de la Real Academia de Ciencias, Exactas, Físicas y Naturales. Serie A. Matemáticas* 2021; 115.
- [20] Wang Y. Yamabe solitons on three dimensional Kenmotsu manifolds. *Bulletin of the Belgian Mathematical Society-Simon Stevin*, 2016; 23: 345-355.
- [21] Yano K. *Integral Formulas in Riemannian Geometry*. Marcel Dekker, 1970.